W Algebraic Inequalities

Name

o What does the sign <= mean?

A greater than

B less than

€ greater than or equal to
D less than or equal to

Class

Date

What does the circle by the number 4
on the number line shown mean?

3 4 5 6 7 8 9

A That 4 is part of the answer.

B That 4 is not part of the answer.
C That 4 is double two.

D The answer is less than 4.

e What does the circle by the number -2
on the number line shown mean?

4 -3 -2 1 0 1 2

A That -2 is not part of the answer.
B The answer is greater than -2.
€ That -2 is part of the answer.

D That -2 is greater than 0.

When an inequality is multiplied or
divided by a negative number, the
sign stays the same.

True or false?

A true
B false

e What is the answer shown on
the number line?

A x<8 A S W T

Bx>8 '3 4 5 6 7 8 9
C x<8
D x=8

What is the answer shown on
the number line?

A x<-3 ;
B x>-3 4 -3 -2 1 0 1 2
C x<-3
D x=-3

e What is the answer shown on
the number line?

A X<6 iy
B x>6 3 4 5 6 7 8 9
C x<6

D x=6

Which statement represents x is less
than or equal to five?

A x<5
B x>5
C x=<5
D x=5

e Which statement represents six is
greater than two times a number?

A 6 <2x
B6>2+x
C6=22+x
D 6>2x

Which statement represents three
times a number plus 12 is less than
or equal to 487

A 3x+12=<48
B 3x+12=48
C 3x=<48+12
D 3x=48-12

© Copyright NewPath Learning. All Rights Reserved. Permission is granted for the purchaser to print copies for
non-commercial educational purposes only. Visit us at www.NewPathWorksheets.com



W Algebraic Inequalities

Name

Class

What does the sign <= mean?

A greater than

B less than

€ greater than or equal to
D less than or equal to

D

Date

What does the circle by the number 4
on the number line shown mean?

3 4 5 6 7 8 9

A That 4 is part of the answer.

B That 4 is not part of the answer.
C That 4 is double two.

D The answer is less than 4.

What does the circle by the number -2
on the number line shown mean?

4 -3 -2 1 0 1 2

A That -2 is not part of the answer.
B The answer is greater than -2.
€ That -2 is part of the answer.

D That -2 is greater than 0.

When an inequality is multiplied or
divided by a negative number, the
sign stays the same.

True or false?

A true
B false

What is the answer shown on
the number line?

A x<8 A S W T

Bx>8 '3 4 5 6 7 8 9
C x<8

D x=8

What is the answer shown on
the number line?

A x<-3 ;
B x>-3 4 -3 -2 1 0 1 2
C x<-3
D x=-3

What is the answer shown on
the number line?

A X<6 iy
B x>6 3 4 5 6 7 8 9
C x<6

D x=6

Which statement represents x is less
than or equal to five?

A x<5
B x>5
C x=<5
D x=5

Which statement represents six is
greater than two times a number?

A 6 <2x
B6>2+x
C6=22+x
D 6>2x

D

Which statement represents three
times a number plus 12 is less than
or equal to 487

A 3x+12=<48
B 3x+12=48
C 3x=<48+12
D 3x=48-12

A

© Copyright NewPath Learning. All Rights Reserved. Permission is granted for the purchaser to print copies for
non-commercial educational purposes only. Visit us at www.NewPathWorksheets.com



http://www.tcpdf.org

	q0: []
	q1: []
	q2: []
	q3: []
	q4: []
	q5: []
	q6: []
	q7: []
	q8: []
	q9: []


